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: N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)
Question Label : Comprehension

giefi- fg-ufe o gar, Uisd 1 = $ig|
CT3 3R U &, Ue Il ufed gl |
U A g9 S99, U A g feen|
TSl YRl Wifg oo, T 48 & Wi |

Sub questions

Question Number : 1 Question Id : 68634040919 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T UfkTal @ Sid 9T T &1 Hel 9a il |

1. Jordier. yidaeTa
2. PARGH, HiddDId
3. PaRad. Jfdera
4, PEREN, D

Options :

686340161601. 1
686340161602. 2
686340161603. 3
686340161604. 4

Question Number : 2 Question Id : 68634040920 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T A T R T R UE AUy A § U H [fed & 9 g 996 $RU R & &0 1 &

STUHYT A : TR 97 Uil Ug-Ug & 3R &l T gl

PRI R : ARG DI LY HA U Iy 1l A9 [9gH 81 94 Gbdl | I¥dfdd [gar af FHe H UE0R U9 W Higd
GARYGE IR A

SWRIad By o Sfalid 1, Aid feU U edl ¥ ¥ 984 3ugad 3Tk & 904 DIl
1. A iR R &I H&1 € SR R, AP Wl e §
2. A SRR G 981 § 3R R. A D Hel AT 161 ©
3.A 8 s R EE TR R
4. A HEI 6! ¢ ABTR WEl ©

Options :

686340161605. 1
686340161606. 2
686340161607. 3
686340161608. 4

Question Number : 3 Question Id : 68634040921 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-d g1 Y AU T §: Uo SHiHYd AS TUH [Ed & dl gU 39 SRU R EUH T

fHPBYT A - UF T 5! FUsl, WA T 51 [
Il U Sife od, WY 6 o 9| |

FRUR: [ ¢ SR R U & Y9HE ¢ | 1% FiaR 9+ s & 0l &1 [dbr &idl o | o %R, gl &f
Wéaﬂﬁ%w%éﬂﬁﬁlﬂfﬁmaﬁwaﬂﬁ%

SWRIdd &Y o 3felies 1, -i1d feu U fadedi # 9 999 Iugad 3wk & 98- St
1. A SRR A 9@ § SRR AT Tel arem §
2. ASRREFI U § SR R. A DI Hal ARAI gl ©

3.A JUeAfbR 3T R

4 A IS AIPTIRITR

Options :

686340161609. 1
686340161610. 2
686340161611. 3
686340161612. 4

Question Number : 4 Question Id : 68634040922 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

FHefrad Sy § 9 98t [dded &1 99+ Sifo|

A. 9f3-9E & TRIgRY UaT o R ¢
B. TUTg B¢ &I ool &1 75 g

C. TR dfgaat Bt 1T @t g

D. UEd Ufadl 8 Frjn sar R aw fean g
E. Wd dfeadl & U0 R ad Rar g

i fau e fasedl O U Il 3T &1 94 Dife:
1LA.B3RC
2.B3RD
3. ASRE

4.A.D3IRE

Options :

686340161613. 1
686340161614. 2
686340161615. 3
686340161616. 4

Question Number : 5 Question Id : 68634040923 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
EIERAR RIS RTAEI S
Y1 - UHT TS 06 o1 0 & T i ot i Ea d e E e sl wear g
YT 11 - T 3R Wil dis W Taal ° UH & Ui o 9dd & |
SWRIad &Y o Sfald . Aid fGU U [Gedl ¥ 4 994 Iugad 3wk & 904 Bl
1. Y 1 3R 1 H 9§
2. BYT 1 3R 1 3HT T T

3.9Y7 199 ¢ afed oy 1 H9a e

4. FYTIHTY B AfPTHYT 1908

Options :

686340161617. 1
686340161618. 2
686340161619. 3
686340161620. 4

Sub-Section Number : 2



Sub-Section Id : 6863401347
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 6 Question Id : 68634040924 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafetad o ¥ Agm oo ffd Sifeie:

1.9

2.71
3.4
4, C

Options :

686340161621. 1
686340161622. 2
686340161623. 3
686340161624. 4

Question Number : 6 Question Id : 68634040924 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFrafarad 3 9 memm oo HfRd Sifv:

1.9
2.7
3.4
4.¢

Options :

686340161621. 1

686340161622. 2

686340161623. 3
686340161624. 4

Question Number : 7 Question Id : 68634040925 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Sl 3o T H{Ud] Ha=TH & H1Y WG 8id § 9% HEiEd O ¥ ®IHed gl
1. 99 dIYH
RG]
Topan fago
4. Gl dEE
Options :
686340161625. 1
686340161626. 2

686340161627. 3
686340161628. 4

| )

L
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Correct Marks : 4 Wrong Marks : 1
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Correct Marks : 4 Wrong Marks : 1



A 3TIPT 57 6 FdaR 1983 B gofT UT T U AR U1, A7 1984 H SIS TG T8 P 1 157
g1

1. AR

2. GUAR

3T

4. YehdR
Options :
686340161677. 1
686340161678. 2

686340161679. 3
686340161680. 4

Question Number : 21 Question Id : 68634040939 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gedt & 3 Y3t & uRa: aRymu Bt 3rafi & ga wefig srafd ard Sue # &l ol 5|

1. Y IUI8
TP I9TT

. VTS I9U
4. TTYUT (INSAT)

Options :

686340161681. 1
686340161682. 2
686340161683. 3
686340161684. 4

| )

L

Question Number : 21 Question Id : 68634040939 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gedt % ST ¢ & ik TRy 1 safd & g Saft crafd ard Suus & CES I
1. Ydig I9Ug

2. TWifde 3ugs

3. Y- Rfd® IUUE

4. TTYUT (INSAT)
Options :

686340161681. 1
686340161682. 2
686340161683. 3
686340161684. 4

Question Number : 22 Question Id : 68634040940 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 ¥ [ Sifor

LIST I LIST II

' R

A [@Ted] L [6Ribs
B. [EScd! 1L [PRal
C. [vrem uegHiEg Bl 111 [PRIgE
D. [HIehl v fq@e
FofaRad faeaal § O 981 9Tk &1 904 Bifg -

1. A-IIIL B-I. C-IV, D-I1
2. AIL B-IV. C-I. D-1II
3. AL B-IV. C-L. D-II
4, A-IL B-L. C-IV. D-11I

Options :

686340161685. 1
686340161686. 2
686340161687. 3
686340161688. 4

Question Number : 22 Question Id : 68634040940 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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LIST I LIST II
TEqHIT-ad HU Ll

A [@Ted] L [6Ribs

B. [EScd! 1L [PRal

C. [vrem uegHiEg Bl 111 [BR1gE

D. [Hiehl v Rq@e

frofefEd faeal & U 98! 3R &1 90 S -

1. A-IIIL B-1. C-IV. D-I1

| )

AL B-IV, C-1, D-III
3. AL B-IV. C-L. D-II
4, A-IL B-L. C-IV. D-11I

Options :

686340161685. 1
686340161686. 2
686340161687. 3
686340161688. 4

Question Number : 23 Question Id : 68634040941 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

W (3e0ef) TUG o Uh Yo & aia I A 3R 30 U & Dl dle 4 & [0d $e gohdl g |
43 "edl [bd ¥U 8§ 51 o1l 8

1. AIER
- T& gfvada
JB-aTe

4. 9ed U3 JHUU]

[

L]

Options :

686340161689. 1
686340161690. 2
686340161691. 3
686340161692. 4

Question Number : 23 Question Id : 68634040941 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. [OIFER
. g& aRadA

S-S
4, g 9 JHUT

Options :

686340161689. 1
686340161690. 2
686340161691. 3
686340161692. 4

| )

[#5]

Question Number : 24 Question Id : 68634040942 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Oy

gl 1 1 Yl 1 ¥ fieH sifore

| 1I
A | gar 1 71197 ST TR
B. RrH®™ {7 I1. [0 TH Sl
C. [gde oiw f5g- gmgel 111 [eare SREad!
D. [4r=re Hiay o Iv. [l [dadg
frrafeiad ol & 9 98t IR @1 I Sifo .

1. A-IIL, B-IV. C-II. D-I

[ ]

AL B-IV. C-1, D-1I
3. A-IV,B-III, C-1, D-II
4. A-II B-IV, C-1, D-1II

Options :

686340161693. 1
686340161694. 2
686340161695. 3
686340161696. 4

Question Number : 24 Question Id : 68634040942 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. ATl BIV. CII, DI
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AL B-IV, C-1, D-II
3.A-IV.B-IL C-L. D-II
4. A-IL B-IV, C-I. D-1II

Options :

686340161693. 1
686340161694. 2
686340161695. 3
686340161696. 4

Question Number : 25 Question Id : 68634040943 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YebU TR S BT b5 (g $U H S Sl &
1. YT B
2. 70 (PIPH)

4 :
4. 3fEh=

Options :

686340161697. 1
686340161698. 2
686340161699. 3
686340161700. 4

Question Number : 25 Question Id : 68634040943 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. YT B
2. T[T (PI)
3. UPIRESA
4. b=

Options :

686340161697. 1

686340161698. 2

686340161699. 3
686340161700. 4

Part B: Civil Structural Transport Engg

Section Id : 686340806
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 6863401348
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634040944 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A soil sample has a porosity of 40 percent. The void ratio for the same soil sample would be

1. 0.512

2

. 0.667
30517
4. 0.613

Options :

686340161701. 1
686340161702. 2
686340161703. 3
686340161704. 4



Question Number : 26 Question Id : 68634040944 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ot 7e1 & A ° 40% Tge 7 | 5e1 % $H] T F Wi 3aE o0 B 7

1.0.512

]

. 0.667
0317

4.0.613

Options :

686340161701. 1
686340161702. 2
686340161703. 3
686340161704. 4

Question Number : 27 Question Id : 68634040945 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The range of optimum water contents for the standard Proctor test for clayey soil is

1. 6% to 10%

[

. 8% t0 12%

L]

. 12% to 15%
4. 14% to 20%

Options :

686340161705. 1
686340161706. 2
686340161707. 3
686340161708. 4

Question Number : 27 Question Id : 68634040945 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. 6% = 10%

]

. 8% 5 12%

(%]

. 12% % 15%

4. 14% 5 20%

Options :

686340161705. 1
686340161706. 2
686340161707. 3
686340161708. 4

Question Number : 28 Question Id : 68634040946 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The penetration rate of cylindrical plunger of 5 cm dia cross-section mto the soil sample in mm/min i CBR
test 1s

1. 1.5 mm/min
2. 1.25 mm/min
3. 1.15 mm/min

4. 0.10 num/min

Options :

686340161709. 1
686340161710. 2
686340161711. 3
686340161712. 4

Question Number : 28 Question Id : 68634040946 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CBR g 4, f1 5 cm = atef S0 gorei Hasae &l 9a @ 97 7§ MM/Min. 999 g% @1 8617

1. 1.5 mm/min

]

. 1.25 mm/min

Y]

. 1.15 mm/min

4.0.10 mm/min



Options :

686340161709. 1
686340161710. 2
686340161711. 3
686340161712. 4

Question Number : 29 Question Id : 68634040947 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A horizontal stratified soil deposit consists of three uniform layers of thickness 6 m. 4 m and 12 m
respectively.

The permeabilities of these layers are 8 ¥ 10~ em/s. 52 % 10~ cm/s and 6 * 10~ cm/s. The effective average
permeability of the deposit in the vertical direction 1s

5% 10~ em/s

—

.7.782 x 107% cm/s

[ ]

3.0.564 x 107  em/s

4.7.782 x 10 em/s

Options :

686340161713. 1
686340161714. 2
686340161715. 3
686340161716. 4

Question Number : 29 Question Id : 68634040947 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&fas =ia ga1 Hem %Ee: 6 m, 4 maw 12 m =i 22T arel 99 UHENE WAl 8 59 81 8 | $9 W/ail
gromeETd 8 % 1074 em/s, 52 x 1074 cmy/s 75 6 % 107 cn/s 3 | g 1 el feon # ward afige
TRITEIA] T A 7

5% 104 cm/s

—

-2

.7.782 x 104 cm/s
3.9.564 x 107% cm/s

4.7.782 x 104 cm/s

Options :

686340161713. 1
686340161714. 2
686340161715. 3
686340161716. 4



Question Number : 30 Question Id : 68634040948 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A sample of dry soil weighs 70 grams. Find the volume of voids if the total volume of sample 1s 40 mL and the
specific gravity of solids 1s 2.65.

1. 5mL

| B

.14 mL

Laa

. 12 mL

4. 13 mL

Options :

686340161717. 1
686340161718. 2
686340161719. 3
686340161720. 4

Question Number : 30 Question Id : 68634040948 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

35 Hel & Uh T & 91 70 gram & | afg 797 #1 Fe svEad 40 ml q9n S # st g9 2,65 2,
a1 ffgdsma &1 A= 7a

1.5l

]

.14 mL

Y]

. 12 ml.

4. 13 ml

Options :

686340161717. 1
686340161718. 2
686340161719. 3
686340161720. 4

Question Number : 31 Question Id : 68634040949 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The maximum dry density for a soil sample having specific gravity of 2.5 and OMC of 20% is

1. 1.667 g--"cm3

1517 g.-"::m3

[ B

3.1417 g.-'cm3
4.1.413 g-'cm3

Options :

686340161721. 1
686340161722. 2
686340161723. 3
686340161724. 4

Question Number : 31 Question Id : 68634040949 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e = 2.5 agr OMC = 20% 3are 9a1 @ 94 61 A9ehad I =ca 341 B8R 7

1.1.667 g/lem’

-2

. 1517 g/em®

L]

.1.417 g/em®

4.1.413 g/em?

Options :

686340161721. 1
686340161722. 2
686340161723. 3
686340161724. 4

Question Number : 32 Question Id : 68634040950 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The precipitation 1s collected and measured in

1. Venturimeter

[

. Rain gauge

L]

. Hydraulic turbine

4. Piezometer



Options :

686340161725. 1
686340161726. 2
686340161727. 3
686340161728. 4

Question Number : 32 Question Id : 68634040950 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AUIITE 1 HUfRd h [hEE |11 =101 27

1. F=imrd
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. FEHETH]
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4. greml

Options :

686340161725. 1
686340161726. 2
686340161727. 3
686340161728. 4

Question Number : 33 Question Id : 68634040951 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A hydraulic jump occurring in a rectangular channel having depth before the jump is 0.25 m and depth after
the jump is 2.05 m. Estimate the energy loss in the jump.

1.3m

ol
wd

2.2.845m

Lag
| ]

S1om

4. 4m

Options :

686340161729. 1
686340161730. 2
686340161731. 3
686340161732. 4

Question Number : 33 Question Id : 68634040951 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1.3m
2.2.845m
3.2.516 m
4.4m
Options :
686340161729. 1
686340161730. 2

686340161731. 3
686340161732. 4

Question Number : 34 Question Id : 68634040952 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A unit hydrograph has a unit of

1. peak discharge

2

. rainfall duration
3. direct runoff

4, the time base of direct runoff

Options :

686340161733. 1
686340161734. 2
686340161735. 3
686340161736. 4

Question Number : 34 Question Id : 68634040952 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340161733. 1
686340161734. 2
686340161735. 3
686340161736. 4

Question Number : 35 Question Id : 68634040953 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the delta for a crop when its duty is 800 hectares/cumec on the field. the base period of this crop 1s 100
days.

1. 106 cm

| ]

107 em
3. 108 cm

4,109 ¢m

Options :

686340161737. 1
686340161738. 2
686340161739. 3
686340161740. 4

Question Number : 35 Question Id : 68634040953 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Fa i |

1. 106 cm

[

. 107 cm

(Y]

. 108 cm

4. 109 cm

Options :

686340161737. 1
686340161738. 2
686340161739. 3
686340161740. 4

Question Number : 36 Question Id : 68634040954 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which one of the following units represents the least pressure?

1. millibar

2. mm of mercury
' >
3. N'mm~
L7
4. kgF/em”

Options :

686340161741. 1
686340161742. 2
686340161743. 3
686340161744. 4

Question Number : 36 Question Id : 68634040954 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. efiEn

2. 91 w1 mim
e )
3. N/mm~

4. kgF/cm?

Options :

686340161741. 1
686340161742. 2
686340161743. 3
686340161744. 4

Question Number : 37 Question Id : 68634040955 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The formula for specific speed (NS) of centrifugal pump is

=
1. NS..%
H.l
. NAQ
N e
H
H i
1 ns o WP
H5.|'4

Options :

686340161745. 1
686340161746. 2
686340161747. 3
686340161748. 4

Question Number : 37 Question Id : 68634040955 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1. Ns = N\"‘:E

H3’4

2. NS = N_ e

H5M

NS - ____N;Z'
H i

: N-/P

Options :

686340161745. 1
686340161746. 2
686340161747. 3
686340161748. 4

Question Number : 38 Question Id : 68634040956 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The hydrologic flood-routing method uses

1. Equation of continuity only

[ )

. Energy equation only

Lad

. Both momentum and continuity equations
4. Equation of motion only

Options :

686340161749. 1
686340161750. 2
686340161751. 3
686340161752. 4

Question Number : 38 Question Id : 68634040956 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340161749. 1
686340161750. 2
686340161751. 3
686340161752. 4

Question Number : 39 Question Id : 68634040957 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The test most suitable for concrete of very low workability 1s

1. slump test

[ )

. compaction factor test
3. vee-bee test
4. All options are correct
Options :
686340161753. 1
686340161754. 2

686340161755. 3
686340161756. 4

Question Number : 39 Question Id : 68634040957 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A T FHVEA 976 Fehic % To70 qa5 39990 TIe0 A H 7 7
1. zrEmdo THem
2. HEAT FE TWE
3. =141 whem (Vee-Bee Test)

4. g fT9Feq 981 &



Options :

686340161753. 1
686340161754. 2
686340161755. 3
686340161756. 4

Question Number : 40 Question Id : 68634040958 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Euler’s crippling load for a column of length L with one end fixed and the other hinged is

n2El
L2

4n2El
I

| )

n2El
442

272E/
L2

Options :

686340161757. 1
686340161758. 2
686340161759. 3
686340161760. 4

Question Number : 40 Question Id : 68634040958 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1 n2El
3

4n°El
1'_2

o]

n2El
412

38
4. 2n“El
LZ

Options :
686340161757. 1



686340161758. 2
686340161759. 3
686340161760. 4

Question Number : 41 Question Id : 68634040959 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The expression for maximum bending moment of simply supported beam of length ‘I’ carrying a uniformly
distributed load of “w/unit run’ over the whole length of the beam is

1. WIB
8
5 wi
i
3 wi?
8
4 wi
5
Options :
686340161761. 1
686340161762. 2
686340161763. 3
686340161764. 4

Question Number : 41 Question Id : 68634040959 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT ®9 | FEe = a1 | a5, 56 o @=8 7w gaia aw Cw/unit run’ 2, % sAfassan

1w

8

~ wi
T2

3. w2

8

g, wi*

5
Options :

686340161761. 1



686340161762. 2
686340161763. 3
686340161764. 4

Question Number : 42 Question Id : 68634040960 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The bolted connection shown in figure is

ISMB 350 e |

A |
Ll 150x150%10_
Front view Side view

1. HSFG angle connection with column
2. Beam connected with beam
3. Beam to column connection

4. Column connected with column

Options :

686340161765. 1
686340161766. 2
686340161767. 3
686340161768. 4

Question Number : 42 Question Id : 68634040960 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o= | =9 T Siee 9o HEYd e 2 |

,%

. ISMB 300 o~
ISMB 350 __|

A — |
1] 150x150%10_]
T T 5T EEERAD!

1. =9 % HSFG = =1 #8419
2. & 1 M 4 949
3. 9\ %1 W9 g #94A
4. =9 =1 =9 G g9
Options :
686340161765. 1
686340161766. 2

686340161767. 3
686340161768. 4

Question Number : 43 Question Id : 68634040961 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When bolts are subjected to combined shear and tension the bolt should be checked for following condition :

I 2 & 2
1 Lfs_b} +[ft_b] -
ash atb
- 2 2
(2] 1] -
fsb th
p W2 W2
3 [f‘?ﬂ] {”ﬂ] <1
fsb sh
2 o AT 2
(o)) s
ilras‘tr fatb

Options :

686340161769. 1
686340161770. 2
686340161771. 3



686340161772. 4

Question Number : 43 Question Id : 68634040961 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I e IFTEIY TUT GG F FATT B 2, a1 g9 B = e & fou wieU] T ntee

Id 2 g 2
I Lf_b] +[fr_n} > 1
fasb atb
2 2
2. Lfaﬂ] _{f‘?ﬂ] =f)
fsb th
2 . 2
3 [faib] +[f8ﬁ} 4
fsb sh
, 2 .
4 [fs_b] +Lfr_b] o
ash ath

Options :

686340161769. 1
686340161770. 2
686340161771. 3
686340161772. 4

Question Number : 44 Question Id : 68634040962 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The slenderness ratio of a web of beam section from diagonal buckling consideration 1s given by
d
].. iy
ty

2. 2.45£

587

tW

Options :
686340161773. 1



686340161774. 2
686340161775. 3
686340161776. 4

Question Number : 44 Question Id : 68634040962 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl gETY ®1 S H TE@d U Rl #9 % W & A1 &1 Fl FI0d = 0 F fhae Ry gwiEn A 8y

4. 679

W

Options :

686340161773. 1
686340161774. 2
686340161775. 3
686340161776. 4

Question Number : 45 Question Id : 68634040963 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The truss ABCD shown m figure is loaded by the forces Py. P,. The reactions are R. R, and R.

The force system 1s

1. statically indeterminate

[ ]

. statically determinate (internally)
3. statically determinate (externally)
4. statically indeterminate (internally)

Options :

686340161777. 1
686340161778. 2
686340161779. 3
686340161780. 4

Question Number : 45 Question Id : 68634040963 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o= o fe@me 0 g8 ABCD =1 Py @en Py =i grn wiitd T mm 21 Ry, Ry den Ry wfufseand 2

] ] SR Sl 27

1. =ifeera: it

2. wifaeha: aftfud (st &9 9)

3. e oftfug (= =9 9)

4. =5Taeha: FOEG (A ' F)
Options :
686340161777. 1
686340161778. 2

686340161779. 3
686340161780. 4

Question Number : 46 Question Id : 68634040964 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A beam is loaded as shown in figure. Which option represents correct shear force diagram (SFD)?

e
4 < >
1 A =i B
< L2 > wi
G 3
wiL
2

| ]
-
Z
-:.»:n|,§m

B

* VLLA‘ ¢ ot

2 2

%)

xR < B
\|v_|"i

4

Options :

686340161781. 1
686340161782. 2
686340161783. 3
686340161784. 4

Question Number : 46 Question Id : 68634040964 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tl & &1 9= 0 gue 3R 9iiE 6 T R | FF |1 faeed 9E s 99 a9 73 (SFD) =i gwi 27

C
A B
N r-"— ) ?
Ra q7fa = B
wi
4 y 3
i 4 LE B
L3 LIIQ Cy WL
¢ 4
wi
3

]

=
Z

c..:n|§_,°5l

B

3 M—A‘ G o

2 2

t,

4. + A = B
¥

4

Options :

686340161781. 1
686340161782. 2
686340161783. 3
686340161784. 4

Question Number : 47 Question Id : 68634040965 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

According to IRC : 73 — 1980 [79]. perception reaction time for braking is suggested as

1. 1.5 sec

[
| ]

sCC

3. 2.5 sec

4, 3 sec



Options :

686340161785. 1
686340161786. 2
686340161787. 3
686340161788. 4

Question Number : 47 Question Id : 68634040965 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
IRC : 73 — 1980 [79] % wiam, 3w % forw <gnfaa smmm sifafen @ @0 27

1. 1.5 sec

o]

. 2 sec
3.2.5sec

4. 3 sec

Options :

686340161785. 1
686340161786. 2
686340161787. 3
686340161788. 4

Question Number : 48 Question Id : 68634040966 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Head light sight distance should be as minimum value as

1. Sight distance

(B

. Stopping sight distance
3. Overtaking sight distance
4. Intermediate sight distance

Options :

686340161789. 1
686340161790. 2
686340161791. 3
686340161792. 4

Question Number : 48 Question Id : 68634040966 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



#E T8 ®I @ TH w1 gl &l T AW =HAdH I FH 9108 |

Options :

686340161789. 1
686340161790. 2
686340161791. 3
686340161792. 4

Question Number : 49 Question Id : 68634040967 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which year. the Motor Vehicles Act was brought into effect by the government of India to regulate the road
traffic in the form of traffic laws. ordinances and regulations?

1.1939
2. 1945
3.1947
4. 1949

Options :

686340161793. 1
686340161794. 2
686340161795. 3
686340161796. 4

Question Number : 49 Question Id : 68634040967 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TEh AAAE o HF9A & o0 @M HEA1, FACI 91 Ha0 & €9 H, ohF 99 § 9Rd THE g A
ATEA AT H1 AR a1 731 4917

1. 1939

]

. 1945

(%]

. 1947
4. 1949
Options :
686340161793. 1
686340161794. 2

686340161795. 3
686340161796. 4

Question Number : 50 Question Id : 68634040968 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the following tests is performed on Bituminous binder?
1. Plate load test
2. Ductility test
3. CBR. test

4. Abrasion test

Options :

686340161797. 1
686340161798. 2
686340161799. 3
686340161800. 4

Question Number : 50 Question Id : 68634040968 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fagaa =g /o 9 = | & i =7 e fhen S 2
1. afees1/wie Wi T
2. = e
3. CBR =iz

4. FTIErE g



Options :

686340161797. 1
686340161798. 2
686340161799. 3
686340161800. 4

Question Number : 51 Question Id : 68634040969 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For design of superelevation for mixed traffic condition. the speed is of design speed.

1. 90%

[
=]
h
(=]
o

LFS]
|
L
i
(=]

4, 65%

Options :

686340161801.
686340161802.
686340161803.
686340161804.

AW N —

Question Number : 51 Question Id : 68634040969 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tfufea amamEE i Rl § sx s v o, foam 7 = 21
1. 90%
2. 85%
3, 1%
4. 65%

Options :

686340161801. 1
686340161802. 2
686340161803. 3
686340161804. 4

Question Number : 52 Question Id : 68634040970 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



At a sewage treatment plant for a flow of 3 m’/s, and rate of velocity 0.3 m/s (horizontal), the cross-sectional
area of grit chamber will be about

1.3m?

| ]

"
10 m~

s o |
3.25m"

4. 30 m?

Options :

686340161805. 1
686340161806. 2
686340161807. 3
686340161808. 4

Question Number : 52 Question Id : 68634040970 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

aifeanel 9d 399R §949 H 3 M</s & F8d o fow a9 (sfaw) 50 & @ 0.3 m/s &, a1 e =8 =1 5397y
qiesied & e 2 |

1.3 m?

]

.10 m?
3.25 m?

4.30 m?

Options :

686340161805. 1
686340161806. 2
686340161807. 3
686340161808. 4

Question Number : 53 Question Id : 68634040971 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Chlorine usage in the treatment of 20.000 cubic meter per day is 10 kg/day. The residual after 10 minute
contact 1s 0.20 mg/L. Calculate the dosage in milligram per litre and chlorine demand of water.

1. 0.6 mg/1 & 0.1 mg/1

| )

.04 mg/l & 0.2 mg/l
3.0.5mg/l & 0.3 mg/l
4. 0.3 mg/l & 0.4 mg/1

Options :

686340161809. 1
686340161810. 2
686340161811. 3
686340161812. 4

Question Number : 53 Question Id : 68634040971 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

== 20,000 cubic meter 5@ % IT=R % forw Fere =1 39am 10 kg./day #m1 21 10 fome & 59 =
arg 0.20 mg/L w=fe 2 2 | 91 6 foTu Fellie =i ArEwEenal i qen H o mg/l |

[

0.6 mg/l & 0.1 mg/l

-2

. 0.4 mg/l & 0.2 mg/l

(ad

.0.5mg/l & 0.3 mg/l
4.0.3 mg/l & 0.4 mg/l

Options :

686340161809. 1
686340161810. 2
686340161811. 3
686340161812. 4

Question Number : 54 Question Id : 68634040972 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which one is primary pollutant?

1. H,S0,
2. HNO;

3. CO

4. HCO;

Options :

686340161813. 1
686340161814. 2
686340161815. 3
686340161816. 4

Question Number : 54 Question Id : 68634040972 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

THfeTiEd H H TYHe 9% hiH A1 &7

[

.H,S0,

]

.HNO;
3.CO
4. HCO;

Options :

686340161813. 1
686340161814. 2
686340161815. 3
686340161816. 4

Question Number : 55 Question Id : 68634040973 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For a mixture volume of 200 ml. 127 ml of distilled water 1s required to render the odour barely detectable.
The threshold number (TON) 1s

1.2.36
2.2.74
3.2.52



Options :

686340161817. 1
686340161818. 2
686340161819. 3
686340161820. 4

Question Number : 55 Question Id : 68634040973 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TRl TH2M0T | 7Y ] TI8 ¥ H Ta1 el weaa & o e 200 ml, 127 ml sHa 5@ $1 sAEvaeshar 26 2 |

‘EQéf‘Em@mTO\} =

Options :

686340161817. 1
686340161818. 2
686340161819. 3
686340161820. 4

Question Number : 56 Question Id : 68634040974 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If the BOD; of a waste water i1s 75 mg/l and the K'1s 0.15 day™! | the ultimate BOD is

1. 109 mg/l

[ B

. 116 mg/1
3. 120 mg/l
4. 150 mg/l

Options :

686340161821. 1
686340161822. 2
686340161823. 3
686340161824. 4

Question Number : 56 Question Id : 68634040974 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



afe = 9 %1 BOD;, 75 mg/L 2 a1 K 0.15 day ™! 2, a1 s&=1 sifam BOD et 27

1. 109 mg/l

]

. 116 mg/l

LS

. 120 mg/l
4. 150 mg/l

Options :

686340161821. 1
686340161822. 2
686340161823. 3
686340161824. 4

Question Number : 57 Question Id : 68634040975 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The moisture content on wet basis is calculated by

W-D)

1.[ <100
2 LEE_fE}x1oo
D-W)

3 [__Er_)x100
D-W),
4.[ 7 Jx100

Options :

686340161825. 1
686340161826. 2
686340161827. 3
686340161828. 4

Question Number : 57 Question Id : 68634040975 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T ¥ v = 38 =1 7 5 0 B T S A

W-D)
I [

[ J100
2, [W‘D\‘xwo
w
3, [D_W\|x100
f )
4.[D‘W‘x1nn
w

Options :

686340161825. 1
686340161826. 2
686340161827. 3
686340161828. 4

Question Number : 58 Question Id : 68634040976 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Simpson'’s rule of calculating area is applicable only when the ordinates are

1. odd

| B

. EVEIL

LF¥]

. Either (1) of (2)
4. None of the above

Options :

686340161829. 1
686340161830. 2
686340161831. 3
686340161832. 4

Question Number : 58 Question Id : 68634040976 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



EAERE 1 TIHT i o [0 qPTEA 1 99 @i @0 &1a7 & 99 Hie A

1. fomm

2.9\

3.aa (1)@ (2)

4. 39 ¥ H B Al
Options :
686340161829. 1
686340161830. 2

686340161831. 3
686340161832. 4

Question Number : 59 Question Id : 68634040977 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Pick up the correct statement :

1. The limiting length of an offset 15 independent of the scale of plotting

2. Sag correction may be positive or negative

L¥ 5]

. The slope correction is always subtractive
4. Error due to lying of the direction of offset is negligible

Options :

686340161833. 1
686340161834. 2
686340161835. 3
686340161836. 4

Question Number : 59 Question Id : 68634040977 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HEl YT T T3 HL |

1. et e i Fimia v erET & 4ae O w6 A 3 |

2

. HHEA FIN499 990 Wt B Hhdl & 991 FOTeHS o |

(Y]

. TEUET HIMEA Hed sSAdshei s 2l B |

4. FAwEe %1 faw /wfaq foen & Frw &H ared 3fe g &6 21



Options :

686340161833. 1
686340161834. 2
686340161835. 3
686340161836. 4

Question Number : 60 Question Id : 68634040978 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The Benchmark (BM) fixed at the end of day’s work 1s called the
1. Permanent BM
2. Arbitrary BM
3.GTS BM
4. Temporary BM
Options :
686340161837. 1
686340161838. 2

686340161839. 3
686340161840. 4

Question Number : 60 Question Id : 68634040978 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e W = $E % 39 ¥ Tauiia e mn = (BM) #01 Faam 27

1. =5 BM

]

T BM

('8

. GTS BM
4. s BM

Options :

686340161837. 1
686340161838. 2
686340161839. 3
686340161840. 4

Question Number : 61 Question Id : 68634040979 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Energy in remote sensing deals with which region of electromagnetic spectrum?

1. Ultraviolet

2

. X-ray
3. Gamma ray

4, Infrared

Options :

686340161841. 1
686340161842. 2
686340161843. 3
686340161844. 4

Question Number : 61 Question Id : 68634040979 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g 5981 § Sl Ay Hag % f6E & F getag 77
1. e
2. X -formi
3. T TR

4. ThitE

Options :

686340161841. 1
686340161842. 2
686340161843. 3
686340161844. 4

Question Number : 62 Question Id : 68634040980 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In plane table survey of small extent. the accuracy of plotted work can be enhanced by use of tachometer in
which of the following methods?

1. Traversing
2. Resection
3. Intersection

4. Radiation

Options :



686340161845. 1
686340161846. 2
686340161847. 3
686340161848. 4

Question Number : 62 Question Id : 68634040980 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

F1 90 916 TaaetE Sue TEav °, IREE ow e § F fhE fafa % wmm ¥ swites s 1 9w #
A 1 Hehdl &7

1. T=mm
2. feufa famm
3. l'r-?-\a.

4, Tafeo

Options :

686340161845. 1
686340161846. 2
686340161847. 3
686340161848. 4

Question Number : 63 Question Id : 68634040981 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following expressions gives intermediate sight distance as per IRC standards (SSD-Stopping
Sight Distance: OSD-Overtaking Sight Distance)?

(0SD-SSD)
2

fa—y

| )

.208D

(SSD +0SD)
' 2

Lad

4.2 88D

Options :

686340161849. 1
686340161850. 2
686340161851. 3
686340161852. 4

Question Number : 63 Question Id : 68634040981 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Feferfas sifreafaaal o & fraes g0 weadl e gt LR.C. umehi & #En ur el 27 (SSD - & i
Tad; OSD - 291 g § 3/ o)

(0SD-58D)
2

ol

[

.2 08D

(SSD +0SD)
' 2

LIS

4.2 8SD

Options :

686340161849. 1
686340161850. 2
686340161851. 3
686340161852. 4

Question Number : 64 Question Id : 68634040982 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The fundamental time period of all other buildings is including moment resisting RC frames with brick infill-
walls 1s taken as

1.0.075 K07
2. 0.085 h%7°

0.09h

T

4 0.09h
d

Options :

686340161853. 1
686340161854. 2
686340161855. 3
686340161856. 4

Question Number : 64 Question Id : 68634040982 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt 31 zumd T et vt R.C. %m, 3t smgivia-<an afzd e 2, i g gt = 5 1

1.0.075 h973

2.0.085 h%73
) 0.09h
R
3 0.09 .h

d

Options :

686340161853. 1
686340161854. 2
686340161855. 3
686340161856. 4

Question Number : 65 Question Id : 68634040983 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Earthquake causes horizontal and vertical accelerations in the masonry structure. The magnitude of the forces
induced in structure depends on the

1. Age of building

[ B

. Strength of mortar

LoN]

. Type of roof
4. Mass of structure

Options :

686340161857. 1
686340161858. 2
686340161859. 3
686340161860. 4

Question Number : 65 Question Id : 68634040983 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T HOEAT ° T o SA0 Efdd Ul 315 oA B & | §E1 § U Sel @1 9 e H© | e W
T A 27

1. Tores a9 0T e
3. =d & TR

4. == = g HIH

Options :

686340161857. 1
686340161858. 2
686340161859. 3
686340161860. 4

Question Number : 66 Question Id : 68634040984 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion (A) and the other 1s labelled as Reason (R) :
1. _qfx+1)
—tan~Y T |+¢
-y
dx 1, 4%

Reason (R) : Iﬁ =_tan"| 2 |+
x“+a® a \a/
In the light of the above statements. choose the correct answer from the options given below.

Assertion (A) : .[EL -
X“+2x+3

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) 1s not the correct explanation of (A)
3. (A) is true but (R) is false

4. (A) 1s false but (R) 1s true

Options :

686340161861. 1
686340161862. 2
686340161863. 3
686340161864. 4

Question Number : 66 Question Id : 68634040984 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



%_&iaﬁmﬁnﬂt{%:uﬁﬁa‘ﬁw(AssertiouA)%mﬁ%@%ﬁwﬁm(RwsouR}%
FIH :
A1)
M{A)J’m— 2‘3!1 |L.‘J§J|.C
F (R) : [P~ Lan (X )c

X
x°.ag’ a \a)

U &9 o 3T H, 46U v fasedt § § wd 9T 1 99 Hifaw

1. (A) i (R) 2 gea # 3t (R), (A) 1 5 =ame 21

-2

. (A) 3 (R) g 73 2, @fed (R), (A) =i 581 =3re =4 2 |

L]

(A) 7= 7, @ifFa (R) 397 2
4. (A) 353 7, @i (R) 783 21

Options :

686340161861. 1
686340161862. 2
686340161863. 3
686340161864. 4

Question Number : 67 Question Id : 68634040985 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion (A) and the other 15 labelled as Reason (R) :
Assertion (A) : I A is square matrix such that A=A then (1 + A%) = 3A=1

Reason (R) : AI=TA=A

In the light of the above statements. choose the correct answer from the options given below.

1. Both (A) and (R) are true and (R) 1s the correct explanation of (A)
2. Both (A) and (R) are true but (R) is not the correct explanation of (A)
3. (A) 1s true but (R) 1s false
4. (A) is false but (R) is true
Options :
686340161865. 1
686340161866. 2

686340161867. 3
686340161868. 4

Question Number : 67 Question Id : 68634040985 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



#E%_aﬁaﬁmﬁ,t{ﬂt{%:uﬁﬁaﬁw(AssertiuuA}%ﬁmﬁi%rf‘aﬁ%ﬁ?qm?ﬂa%m(Reason R) =
FIH :

AR (A) TR AT mr At wE i s A=A, ([ +A%) - 3A=1

s (R): Al=TA=A

IR HYF F ATAE H, J 20 70 fgweq ¥ H @E W F =999 Fifu

1. (A) 3 (R) 21 &= # 3t (R), (A) 1 = =2 21

[

. (A) 31 (R) gAi 5= 2, @fed (R), (A) =1 581 =3mEa 48 2 |

[ad

(A) 7= 7, @ifa (R) 3973 71
4. (A) 353 7, @i (R) 783 2|

Options :

686340161865. 1
686340161866. 2
686340161867. 3
686340161868. 4

Question Number : 68 Question Id : 68634040986 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion (A) and the other is labelled as Reason (R) :
Assertion (A) : The sum of the probabilities of all elementary events of an experiment is 1.

Reason (R) : If an event can not occur, then its probability is 0.

In the light of the above statements. choose the correct answer from the options given below.

—

. Both (A) and (R) are correct and (R) is the correct explanation of (A)

b2

. Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)

[#5]

. (A) is correct but (R) is not correct

s

. (A) 1s not correct but (R) is correct

Options :

686340161869. 1
686340161870. 2
686340161871. 3
686340161872. 4

Question Number : 68 Question Id : 68634040986 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



#E%_aﬁaﬁmﬁ,t{ﬂt{%:t{iﬁa‘ﬁw(Assel'tiuuA)%ﬁmﬁi%«rf‘@ﬁ%ﬁ?qmmaﬁm(Reasnn R) =
1 F :

At (A) : v o Tt myfas "ens F1 AEERa & Fel A | wEr E |

v (R) : i = 721 afeq T8 &l 7, a1 39 yiaswar 0 26 2 |

IYE F49 F ATl 0, 99 2 0 faweq § O g8l I F1 999 HA -

1. (A) s (R) 271 & 2 31 (R), (A) #1 =81 =3m 7|

2. (A) 3 (R) g1 5 &, «ife (R), (A) =1 =8 =3re 76 2 |
3. (A) 7= 2, #ifea (R) s@e3 21

4. (A) sm= 2, @A (R) 5 21

Options :

686340161869. 1
686340161870. 2
686340161871. 3
686340161872. 4

Question Number : 69 Question Id : 68634040987 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion (A) and the other 1s labelled as Reason (R) :
Assertion (A) : Estimation of settlement of foundation on sandy soil can be done by using SPT values.
Reason (R) : Sampling in cohesionless soils without disturbing the structure 1s difficult.

In the light of the above statements. choose the correct answer from the options given below.

—

. Both (A) and (R) are correct and (R) is the correct explanation of (A)

b2

. Both (A) and (R) are correct but (R) is not the correct explanation of (A)

L]

. (A) s correct but (R) is not correct
4. (A) 1s not correct but (R) 1s correct

Options :

686340161873. 1
686340161874. 2
686340161875. 3
686340161876. 4

Question Number : 69 Question Id : 68634040987 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=1 71w fou T 2 ;v e (Assertion A) % =9 1 fafaa 2 91 g5 355 wror (Reason R) &
FOY :

YA (A) : SPT w1 &1 3790 e Tatel! Gg1 T A & =19 H1 [E e FTE 1 Hehell 7 |

v (R) : #7771 1 =a9@ 3094 e a1 gafEaen ge1 § Wia=aq & e 2 |

IYRE F4F F AT 4, 99 U 0 fawey § O g8l I F 999 HA -

1. (A) s (R) 271 & 2 31 (R), (A) #1 =81 =3m 7|

2. (A) 3 (R) g1 5 &, «ife (R), (A) =1 =8 =3re 76 2 |
3. (A) 7= 2, #ifea (R) s@e3 21

4. (A) sm= 2, @A (R) 5 21

Options :

686340161873. 1
686340161874. 2
686340161875. 3
686340161876. 4

Question Number : 70 Question Id : 68634040988 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion (A) and the other 1s labelled as Reason (R) :
Assertion (A) : At the standard temperature. the kinematic viscosity of air is greater than that of water at the
same temperature.

Reason (R) : The dynamic viscosity of air at standard temperature is lower than that of water at the same
temperature.

In the light of the above statements. choose the correct answer from the options given below.

—

. Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

[ ]

. Both (A) and (R) are correct but (R) is not the correct explanation of (A)

L¥ 5]

. (A) 1s correct but (R) 1s not correct

e

. (A) is not correct but (R) 1s correct

Options :

686340161877. 1
686340161878. 2
686340161879. 3
686340161880. 4

Question Number : 70 Question Id : 68634040988 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=1 71w fou T 2 ;v e (Assertion A) % =9 1 fafaa 2 91 g5 355 wror (Reason R) &
1 F :

FfRY (A) : I ATHE W, 71 I TG T FAEAT, FH ATHH W A $l TG Tias vEEda 5 A7 9w g
2

FR (R) : 7FF T99H W, 791 H1 TS THa1, FH T9HE W T 1 TqH TGl § FH a2 |

IR FIF & ATAE H, F= 720 70 fawedi § ° GE I F 997 HI0AC

1. (A) 3 (R) 2 7 2 31 (R), (A) #1581 =m 7

2. (A) 3 (R) zri 5 &, «ifea (R), (A) =1 =81 =re 76 2 |
3. (A) 7= 2, wifea (R) @3 21

4. (A) s\ 2, @A (R) 59 21

Options :

686340161877. 1
686340161878. 2
686340161879. 3
686340161880. 4

Question Number : 71 Question Id : 68634040989 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion (A) and the other 1s labelled as Reason (R) :
Assertion (A) : California bearing ratio test 1s carried out to evaluate the stability of soil subgrade and other
tlexible pavement materials.

Reason (R) : It is essential that at no time are the soil subgrade as well as other flexible pavement materials
get overstressed.

In the light of the above statements. choose the correct answer from the options given below.

1. Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
2. Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)
3. (A) 1s correct but (R) 1s not correct
4. (A) is not correct but (R) is correct
Options :
686340161881. 1
686340161882. 2

686340161883. 3
686340161884. 4

Question Number : 71 Question Id : 68634040989 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=1 71w fou T 2 ;v e (Assertion A) % =9 1 fafaa 2 91 g5 355 wror (Reason R) &
FOY :

YA (A) : ga1 39anit (subgrade) 1 fema aun w91 599 % 37 T AEEET H gedTE SHiania

T AW T g fohan e |

v (R) : 77 sifadE & T TRl i 998 W 921 T80 a9 B9 &9[ $1 373 79 AEiE W S@GE 969 9
T 90|

IARE FIF & AAE H, F= 720 70 fawedi § 1 GE I F 997 HI0AC

1. (A) 3 (R) 21 7 2 31 (R), (A) #1 =81 =m 7

2. (A) s (R) 2Hi & &, «f (R), (A) #i w1 =wen 7@ 2 |
3. (A) @i 2, #ifea (R) @3 21

4. (A) s 7, e (R) 54 21

Options :

686340161881. 1
686340161882. 2
686340161883. 3
686340161884. 4

Question Number : 72 Question Id : 68634040990 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion (A) and the other 1s labelled as Reason (R) :
Assertion (A) : Alum is most commonly used coagulant in water treatment.

Reason (R) : Alum is very effective in killing pathogens present in water.

In the light of the above statements. choose the correct answer from the options given below.

1. Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
2. Both (A) and (R) are correct but (R) is not the correct explanation of (A)
3. (A) 1s correct but (R) 1s not correct
4. (A) is not correct but (R) is correct
Options :
686340161885. 1
686340161886. 2

686340161887. 3
686340161888. 4

Question Number : 72 Question Id : 68634040990 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=1 71w fou T 2 ;v e (Assertion A) % =9 1 fafaa 2 91 g5 355 wror (Reason R) &
FIH :

Aftpa (A) : 7 sT=R & fou fhesd =51 s9am sAfasiog: U heh & =9 ° 6 e 2 |

&RV (R) : 961 # faamm@ Tiaael &1 98 i & o0 Thesi] aga gaEene & |

ITRE HY o AT H, A9 G0 T f9hed § ° Wal S FH 997 HIa0

1. (A) 3% (R) =i 5 2 3 (R), (A) F1 =8 = 2|

2. (A) 3 (R) g1 5 &, «ife (R), (A) =1 =8 =3re 76 2 |
3. (A) 7= 2, wife (R) 553 21

4. (A) sm= 2, @A (R) 5 21

Options :

686340161885. 1
686340161886. 2
686340161887. 3
686340161888. 4

Question Number : 73 Question Id : 68634040991 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following columns of given end condition according to ascending order of effective length :

A. Column with both ends fixed

B. Column having one end fixed and other end free

C. Columm having one end fixed and other end hinged
D. Column having both the ends hinged

Choose the correct answer trom the options given below.
1.LA.C.Dand B
2.A.B.D.and C
3.B.C.Dand A

4 B.D.Cand A

Options :

686340161889. 1
686340161890. 2
686340161891. 3
686340161892. 4

Question Number : 73 Question Id : 68634040991 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



J1 fou 7 wiew & 3R (ends) Fi Rl 3§ 12 2 | 39 d9E F1 W9IEa § AT90 38 SAE #H §
A |

A. M (¥99) T8 gF1 oF 21 2 |
B. wiem T9a®1 v 30 A 2 9971 ¢80 3R =9 & |
C. e T3 U B 0 8 9971 ¢80 BH $eagH 7 |

drg Tgu v faehedt § | Tl 39 1 934 Hifau -

_(A). (C). (D) 3R (B)

[a—

2

.(A), (B). (D) 3R (C)
.(B). (C). (D) 3R (A)

[F'S)

4.(B), (D), (C) 3R (A)

Options :

686340161889. 1
686340161890. 2
686340161891. 3
686340161892. 4

Question Number : 74 Question Id : 68634040992 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the sand according to zone requiring higher water cement ratio to lower :

A Zonel
B. Zone 11
C. Zone II1
D. Zone IV
E.ZoneV

Choose the correct answer from the options given below.
1. Zone V. Zone IV, Zone I1I, Zone IT and Zone [
2. Zone L. Zone II. Zone III. Zone IV and Zone V
3. Zone I, Zone II. Zone III and Zone IV
4. Zone IV, Zone III. Zone IT and Zone I
Options :
686340161893. 1

686340161894. 2
686340161895. 3



686340161896. 4

Question Number : 74 Question Id : 68634040992 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1 1 3=9 S HiHe FIE 96 & H T 5 Ji6e 39T S ATl 9l &9 ° sHaih #i |

e
ENI
& 111
& IV
&V

e Rl » P

= feu mu fawedi 9§ @A I 1 9349 HifAU

1.8 V. &g IV, 85 1L &= 11 3R &= I

-2

e Loam IL & 101 & IV 3R & V

e L & 11, & 111 3R & IV

Y]

4. &3 IV, #= 101 & 11 3R &= 1

Options :

686340161893. 1
686340161894. 2
686340161895. 3
686340161896. 4

Question Number : 75 Question Id : 68634040993 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following are the criteria associated with the design of sag vertical curve?

A. Provision of minimum stopping distance during day time
B. Adequate drainage

C. Comfortable operation

D. Pleasant appearance

E. Dramage

Choose the correct answer from the options given below.

1. A. B and E only

[ )

. B and C only
3.B.Cand D only

4. A and C only

Options :

686340161897. 1
686340161898. 2
686340161899. 3
686340161900. 4

Question Number : 75 Question Id : 68634040993 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TefefEd 7 | : | 9HeE A0 e 9% | Hatad &7
A. 23 & |99 =Aa9 a9y g &1 IEgH
B. mar f=wE

D. gr@e i
E. fr=mt

9 feu U faedi § § HE I H =EA HIA0

ik

. (A), (B), (E)

-2

.(B), (C)

(Y]

A8 (C); d42)
4. (A). (C)

Options :

686340161897. 1
686340161898. 2
686340161899. 3



686340161900. 4

Question Number : 76 Question Id : 68634040994 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are claimed as factors that influence the sedimentation?

A. Size. shape and weight of the particle

B. Viscosity and temperature of water

C. Surface overflow rate. surface area and velocity of flow
D. Inlet and outlet arrangement

E. Detention periods and effective depth of basin

Choose the correct answer from the options given below.

1. A. B. C. D and E are correct

[

. Only B and E are correct
3.B. C and D are correct

4. A B.D and E are correct

Options :

686340161901. 1
686340161902. 2
686340161903. 3
686340161904. 4

Question Number : 76 Question Id : 68634040994 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=feiEa § 8 % 9 s HAg9ed &1 T9Iad Fid 27

A. T T AWM, A T97 91

B. 5@ &1 vaHar 991 arqaE

C. v sifayare i o€, T &E%he a1 JaE & 9
D. wewim qen fm i1 s

E. satya sm@fy aun 2ivfl i wwrEeil TETs

Fr feu o faspent o & w1 I 1 == Hifw
1. (A), (B), (C), (D) 3R (E) =
2. %dd (B) 3R (E) =i 2
3.(B), (C) 3R (D) 71

4. (A). (B), (D) 3R (E) =# #

Options :

686340161901. 1
686340161902. 2
686340161903. 3
686340161904. 4

Question Number : 77 Question Id : 68634040995 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following structural elements of a flexible pavement from base to top :

A, Sub-base
B. Sub-grade
C. Base

D. Surfacing

Choose the correct answer from the options given below.

1.B.C.D. A

| ]

.C.A.D.B
3.BA.CD
4.D,C.B.A

Options :

686340161905. 1

686340161906. 2
686340161907. 3



686340161908. 4

Question Number : 77 Question Id : 68634040995 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FH T B9 F T TS del Bl AR § WY a0 STare o |

A. 39-F1UR
B. 39-3mi
C. z9r
D.ge=

= Tgu U faehedi H§ | HE I 1 F54 HifAC
1B C, DA
e A DB
3.BLA,CD

4.D,C.B.A

Options :

686340161905. 1
686340161906. 2
686340161907. 3
686340161908. 4

Question Number : 78 Question Id : 68634040996 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are claimed as advantageous in anaerobic sludge digestion as compared to aerobic
digestion?

A. Lower BOD concentration in supernant liquor

B. Production of a sludge with excellent dewatering capacity
C. Greater production of methane

D. Lesser operating cost

E. Lesser capital cost

Choose the correct answer from the options given below.

1. A B and D are correct

| )

.B. C.D and E are correct

3.C.D and E are correct

4. A. B and E are correct



Options :

686340161909. 1
686340161910. 2
686340161911. 3
686340161912. 4

Question Number : 78 Question Id : 68634040996 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Aty 9T=E 1 el § FaEd] A9% =G § 9 H " A ArIen 9 A7 &8 7

A. gl 73 5 = BOD s@a

B. 3t5E YT HHA1 9/ A9F 1 IATeA
C. di%m =1 3=9 306

D. =% =i #mme

E. =5 951 @mma

= fou U fasedl ® | & 30 61 994 Hifau

(A). (B) 3R (D) w# 2

—

]

.(B). (C). (D) 3R (E) = 2

(C). (D) 3R (E) =#

(Y]

4. (A). (B) 3R (E) =# 2

Options :

686340161909. 1
686340161910. 2
686340161911. 3
686340161912. 4

Question Number : 79 Question Id : 68634040997 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Capillarity 1s due to

A. Surface tension

B. Cohesion

C. Viscosity

D. Vapour pressure

E. Weigh density of fluid

Choose the correct answer from the options given below.

1.Band C

[ )

. Only C

LF%]

. Only A
4.C.Dand E

Options :

686340161913. 1
686340161914. 2
686340161915. 3
686340161916. 4

Question Number : 79 Question Id : 68634040997 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= o H fhEs 0 hished Bla1 &7

A. 78 794
B. 957+
C. aman
D.gm3 g=
E. 7@ =1 ur a9

i feu o faspedi § & wE1 3w 1 == i
.(B) 3R (C)

.dd (C)

. had (A)

4.(C), (D) 3R (E)

[a—

[

tad

Options :

686340161913. 1
686340161914. 2
686340161915. 3



686340161916. 4

Question Number : 80 Question Id : 68634040998 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement-I : Method of section for analysis of truss is used when the forces in a few members of a truss are
to be determined.

Statement—II : If three forces act at a jomt and two of them are along the same straight line then third force
would be zero.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement—I and Statement-II are correct

[ ]

. Both Statement-I and Statement—II are incorrect
3. Statement—I is correct but Statement—II i1s incorrect

4. Statement—I is incorrect but Statement—II is correct

Options :

686340161917. 1
686340161918. 2
686340161919. 3
686340161920. 4

Question Number : 80 Question Id : 68634040998 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fie 21 Fua feu o 2

%A (I) : 519 28 & $2 Heeai | 9al o1 [giia &1 2@ 2, 91 28 & favem & fou ofiaea 1 fafa =
9 forgr AT B

Fua (II) : =iz 75l g (39) T 9 91 F@ 524 2 997 799 | o1 3697 #5efi @ 4 £ a1 50 5a0 379 (0)
Bl

TRRE FIF F AeF °, T f5u 70 fawedi ¥ § ge@ g I H 959 Hifaw

1. %@ (1) 3 (I) 2=t =&t 2
2. %491 (1) 3 (II) 541 7era & |
3. 71 (I) =31 2, =ifssa %= (1) 7ea 2
4. we (1) 7o 2, vt wua (1) = 21
Options :
686340161917. 1
686340161918. 2

686340161919. 3
686340161920. 4



Question Number : 81 Question Id : 68634040999 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement—I : Improper design and location of signals may lead to violations of control systems.
Statement—II : Signals reduce certain types of accidents. notably the right angled collisions.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement—I and Statement—II are correct
2. Both Statement—I and Statement—II are incorrect
3. Statement—I is correct but Statement—II is incorrect

4. Statement—I 1s incorrect but Statement—II is correct

Options :

686340161921. 1
686340161922. 2
686340161923. 3
686340161924. 4

Question Number : 81 Question Id : 68634040999 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fre 21w fogu o €

YA (1) : foHel =1 sf=a wen a9 Fafa, 0 s5aw & 39FAn F @0F ST L T6d1 2 |
&Y (II) : 57e 52 7R FI gHen#l, [F9sed § HuaiEg TehiEl & FF Hd 7 |

THRIE HIF F ATF §, A fou 0 fawedt § § qed I9gF I F1 997 S

1. e (D) s (1) e g & |

2. %4 (1) 3 (II) 2@t s/ 2 |

3. %wH (1) g9 2, e wea (1) 533 21

4. % (1) 359 2, wifa wua (1) 57 2
Options :
686340161921.
686340161922.

686340161923.
686340161924.

AW N —

Question Number : 82 Question Id : 68634041000 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement-I : The first stage BOD is the carbonaceous demand occurring due to the organic matter oxidation
during first 20 days.

Statement—II : The second stage BOD 1s the carbonaceous demand occurring due to the inorganic matter
oxidation during first 20 days.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement—I and Statement—II are correct

| ]

. Both Statement-I and Statement—II are incorrect
3. Statement—I is correct but Statement—II is mncorrect

4. Statement-I is incorrect but Statement—II is correct

Options :

686340161925. 1
686340161926. 2
686340161927. 3
686340161928. 4

Question Number : 82 Question Id : 68634041000 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fr 2 A fom o E

Fed (I) : BOD i wom sgwen w9 20 feqi = sAata wg qg1di & A0 & S0 24 diell Hamg
TR 2 |

w5 (I1) : BOD 1 gatt smee wam 20 i & sievta SOl Terei & siia & Hro 29 g
HIEAHT HATETTHAT & |

I HYA o A H, G4 feu T fawedi § F ged I9gEd I H1 F9 S0

1. %53 (I) = (1) g=i =&t & |
2.5 (1) s (1) =41 7eia 2
3. %9 (1) =& 2, =ifer Fa (1) e 21

4. w2 (1) 7 2, ot %= (1) =81 2

Options :

686340161925. 1
686340161926. 2
686340161927. 3
686340161928. 4

Question Number : 83 Question Id : 68634041001 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement-I : Activated sludge process 1s an example of acrobic suspended growth process.
Statement—II : Anacrobic decomposition takes place in Imhoff tank.

In the light of the above statements. choose the correct answer from the options given below.

1. Both Statement—I and Statement—II are true

| )

. Both Statement-I and Statement—II are false
3. Statement—I is true but Statement—II is false

4, Statement—I is false but Statement—II is true

Options :

686340161929. 1
686340161930. 2
686340161931. 3
686340161932. 4

Question Number : 83 Question Id : 68634041001 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 3 e fouw e E

%o (I) : wlirfaa smie wfsran amdt fefaa gfg sfwn =1 v g 2
%A (1) : sl siraed 3a7F & § 9feq & 2 |

TUU S 6, 19 feu e fewed 8 O WQT 3 1 w9 Hifww -

1. w9= (1) s (II) gm1 =&t 2
2. %97 (1) s (II) gA1 Tera 2 |
3. %A (1) =71 2, wiferd s (1D) e 2 |

4. we 1 (1) era &, «ifed w97 (ID) =81 8

Options :

686340161929. 1
686340161930. 2
686340161931. 3
686340161932. 4

Question Number : 84 Question Id : 68634041002 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement-I : Consolidation iz a gradual process of volume reduction under sustained loading.
Statement—II : Compaction refers to a rapid reduction mainly in the air voids under a loading of short
duration.

In the light of the above statements. choose the correct answer from the options given below.

1. Both Statement—I and Statement—II are true
2. Both Statement-I and Statement—II are false
3. Statement—I 1s true but Statement—II is false

4. Statement—I is false but Statement—II is true

Options :

686340161933. 1
686340161934. 2
686340161935. 3
686340161936. 4

Question Number : 84 Question Id : 68634041002 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fr 21 Fua fau Mo 2 ;v afie (Assertion A) # =1 1 fafad # 91 25w 3@ wwor (Reason R) &
w97

At (A) : wfafza s & si@ta Giies, g 8@ 61 UF s 9w 2 |

0 (R) : seqEfy anw F Aad g4, gEgq: Igiieasza 1 24 916 5d 89 2 |

Eﬁmm%mﬁ.ﬂ%ﬁﬁmﬁﬁﬁﬁ@fﬂﬁmmwﬁm:

1. (A) s (R) 2ri =1 # ##1 (R). (A) =i =& =men 2 |

-2

. (A) 3t (R) 21 78 2, e (R), (A) i & =amen 74 & |

lad

. (A) =& 2, =it (R) w21 721 2 |

4. (A) = 7@ 2, @fe (R) =78 2|

Options :

686340161933. 1
686340161934. 2
686340161935. 3
686340161936. 4

Question Number : 85 Question Id : 68634041003 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement-I : The inner core of the earth consists of light materials while the crust is solid and comprises of
heavy metals.

Statement—II : The crust of earth consists of light materials while its inner core is solid and comprises of
heavy metals.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement—I and Statement—II are correct

[ ]

. Both Statement-I and Statement—II are incorrect
3. Statement—I is correct but Statement—II is incorrect

4. Statement—I is incorrect but Statement—II is correct

Options :

686340161937. 1
686340161938. 2
686340161939. 3
686340161940. 4

Question Number : 85 Question Id : 68634041003 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fie 31 Fua feu o 2

FYA (I) : 721 =1 30 HiE Fosh TEIUl § &41 & T oed 319 & 310 9l gt § &9 2 |
% (1I) - qwmw?—cﬁwmaw?ﬁ%ﬁ ST IS 3E 7 3T WA 93 | 597 2 |
IRRE FIF F el °, T fgu 70 fawedi § 5 weal IugF I F 957 FIia

1. =ea (1) 3 (1) sHT =581 2 |
2. %97 (1) = (II) g1 era &
3. wua (1) w21 2, wiferd s (I1) 7erd 2 |
4. w3 (1) 7erd 2, @it %= (1) =281 2 |
Options :
686340161937. 1
686340161938. 2

686340161939. 3
686340161940. 4

Question Number : 86 Question Id : 68634041004 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement-I : Fluids which obey the Newton’s law of viscosity are known as Newtonian fluids,
Statement—II : A fluid, which 1s incompressible and having no viscosity. is known as real fluid.
In the light of the above statements. choose the correct answer from the options given below.

1. Both Statement—I and Statement—II are true

| )

. Both Statement-I and Statement—II are false
3. Statement—I is true but Statement—II is false

4, Statement—I is false but Statement—II is true

Options :

686340161941. 1
686340161942. 2
686340161943. 3
686340161944. 4

Question Number : 86 Question Id : 68634041004 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fre 21 o fou Mo £
&Y (I) : v 7 59 o =g =1 w@Eal +1 Hg ar) g 7, 3= Al 9t Fad @ |
Fyd (II) : v T =1 s1disy 2 3 fagsht +1E e 960 2, 38 Irafas @ Fad 2 |

T FOH F A §, 9 feu M fmedt & O WO 3 = Hif
1. =2 (1) 3 (D) 2T =i & |
2. %54 (1) 3w (1) 201 7ora & |
3. %o (1) w1 2, eifeet o (I1) ofe 2 |

4. w1 (1) 7o &, e wy= (11) T8 8 |

Options :

686340161941. 1
686340161942. 2
686340161943. 3
686340161944. 4

Question Number : 87 Question Id : 68634041005 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(logh(x) +logg(x))dx is

Inteeral [P(X¥)g(x)+g(x)h(x)
= T Rt

A. h(x)-g(x)-log[h(x)+g(x)]+¢
B. [logh(x)-g(x)° + ¢ 2

1 1 _
& [Elogmxwﬁloggcx)} ¢
D. llogh(x)+logg(x)]% + ¢
E. [h(x)+g(x)}* +c

Choose the correct answer from the options given below.

1. A only

b2

. E only
3.B and D only
4. C only

Options :

686340161945. 1
686340161946. 2
686340161947. 3
686340161948. 4

Question Number : 87 Question Id : 68634041005 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e [ MX)90) = 9()A(x)

* a7
R L L S

A. h(x)-g(x)-log[h(x)+g(x)]+c
B. [logh(x)- gx)F* + ¢

2
253 [::I.Elngmxhw—%logg(xj} +c
D. ogh(x)+logg(x))* + ¢
E. [hx)+g(x)? +c
3= feu o faweqi ® ° 8 39 #1994 Hifau -
1. %= (A)
2. %= (E)
3. %= (B). (D)
4. %ga (C)

Options :

686340161945. 1
686340161946. 2
686340161947. 3
686340161948. 4

Question Number : 88 Question Id : 68634041006 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. PERT technique is suitable for scheduling of research and development work
B. PERT is an activity oriented technique

C. PERT has no use of dummy activities

D. PERT can manage uncertain activities of project

E. PERT is an event oriented technique

Choose the correct answer from the options given below.

1.A C.D, and E only

| )

. B only
3.Cand D only
4. E only

Options :

686340161949. 1

686340161950. 2
686340161951. 3



686340161952. 4

Question Number : 88 Question Id : 68634041006 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. % (PERT) a5 wsame 91 fasm s&t i1 % 6w 39999 2 |
B. w2 vs Tiafaia 3@ 9% |

C. w2 1 qanam /Fael Miatata=i 1 FE 39 9@ B |

D. 9 g 9 Ee & swHfvEa Tafaiadi & 99497 a1 o1 Tehal 7 |
E. ¢ s "1 /9fm 39@ a1 2 |

Ji= feu U faseqi § T TE 39 61 95 HIa

1. %= (A), (C), (D) 3R (E)
2. %= (B)
3. == (C) 3R (D)
4. %= (E)
Options :
686340161949. 1
686340161950. 2

686340161951. 3
686340161952. 4

Question Number : 89 Question Id : 68634041007 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Point of contraflexure is the point at which

A. Bending moment changes sign
B. Beam changes curvature
C. Beam flexes in opposite direction
D. Bending moment is zero
E. Bending moment is maximum
Choose the correct answer from the options given below.
1. Aand E only
2. A . B.CandD only
3.B.C.D. and E only
4. C and E only

Options :



686340161953. 1
686340161954. 2
686340161955. 3
686340161956. 4

Question Number : 89 Question Id : 68634041007 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afd w=9A fog v vt fag B S w

A. 59 A 97 g 2
B. W 9%ar sewar 21
C. om fatidi /3o feon & 3= & |
D. =7 310 37 E
E. 54 sl sfuswad 2 |
J= fgu u fasedi # § 98 I 1 F5 HifA0
1. %= (A) 3R (E)
2. %= (A), (B), (C) 3R (D)
3. %=a (B). (C). (D) 3R (E)
4. %57 (C) 3R (E)

Options :

686340161953. 1
686340161954. 2
686340161955. 3
686340161956. 4

Question Number : 90 Question Id : 68634041008 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The block shear resistance of a tension member at the connection is given by the sum of

A fracture strength of shear surface and yield strength of tension surface

B. fracture strength and yield strength of stronger plane

C. fracture strength of tension plane and the yield strength of the shear plane
D. twice the fracture strength, if both are equal

E. twice the yield strength. if shear strength 1s lesser

Choose the most appropriate answer from the options given below.

1. Aonly

[ ]

.Lesserof Aand B
3. Minimum of A and C

4. Minimum of D and E

Options :

686340161957. 1
686340161958. 2
686340161959. 3
686340161960. 4

Question Number : 90 Question Id : 68634041008 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT W fhH] 9919 Hesg 1 solish ATEIY iale e ¥ F fREe 90 g eniEn S &

A. F9Ed g8 1 faam 5o qu1 741 98 w1 fa=ed 5o
B. sy wifda el 99 F1fawT g a9 H=e[ &

C. a7 & =1 a6 aa 91 A7%Ud aa &1 fo=ed aa
E. afc 570y o= %4 3, 91 fa=er 56 *1 g

Ji fgu U fasedi | ® 981 I F 954 Hifau

(=

. Had (A)

[E]

. (A) 9= (B)# =5

(%]

. (A) 7u1 (C) & =gad
4. (D) a= (E) 3 =79

Options :

686340161957. 1
686340161958. 2
686340161959. 3



686340161960. 4

Question Number : 91 Question Id : 68634041009 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The following statements are given on plane table survey. Choose the correct statements :

A. Plane table survey is less costly than theodolite survey

B. Great skill is required in plane table survey

C. Plane table survey is advantageous in magnetic areas, where compass survey is not reliable
D. Plane table survey gives very accurate results

E. It 1s very easy to carry accessories which are not likely to be lost easily

Choose the correct answer from the options given below.
1. C and E only
2. Aand C only
3.D and A only

4. Aand D only

Options :

686340161961. 1
686340161962. 2
686340161963. 3
686340161964. 4

Question Number : 91 Question Id : 68634041009 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



™ 7He HAE o 999 § F SYE T W E | §E FHYE] 1 =99 R

A. REATESEEE HA&U 1 ol H ©H dael T4 ®H @9 916 # |

B. = @@ \aa1v & o0 Acaias Heeal Sl ATyl aidl § |

C. =H Taa Faav T=E &A1 § AT9HA] 2101 8 Jaih [Ghid® Haav g8l gvasa-E T8 2 |
D. =1 o 5dam 9gd Heish TH0H T 7 |

E. U8 STl & & ST ga9me vial & el S # (@1 S 21 T8 8 e |

3 fom 0 fapedt § & WA v 1w
1. %= (C) 3R (E)
2. #aw (A) 3R (C)
3. %= (D) 3R (A)

4. %57 (A) 3R (D)

Options :

686340161961. 1
686340161962. 2
686340161963. 3
686340161964. 4

Question Number : 92 Question Id : 68634041010 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Following scale of the map is not affected due to shrinking of map :

A. Engineer’s scale

B. Graphical scale

C. Representative fraction
D. Plain scale

Choose the most appropriate answer from the options given below.

1. B only

| )

.Aand D only
3. C only
4. A only
Options :
686340161965. 1

686340161966. 2
686340161967. 3



686340161968. 4

Question Number : 92 Question Id : 68634041010 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TefafEd 8 5 6 91 956, 9AEE % F99 | 99if9q T8 a2 e

A. A 9=
B. wwE mEs
C. T fu=

D. =gmo |1

= Tgu U faehedi H§ | HE I 1 F54 HifAC
1. =a= (B)

2. %= (A) 3R (D)
3, %37 (C)

4. %= (A)

Options :

686340161965. 1
686340161966. 2
686340161967. 3
686340161968. 4

Question Number : 93 Question Id : 68634041011 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following measures are relevantly considered for earthquake loading and lateral stability of tall
buildings?

A, Minimizing gravity loads
B. Adding masses at floor levels
C. Ensuring ductility at the locations of maximum moments
D. Providing shear walls
Choose the most appropriate answer from the options given below.
1. A.B and D only
2. A CandD only
3. Aand B only

4. B. C and D only



Options :

686340161969. 1
686340161970. 2
686340161971. 3
686340161972. 4

Question Number : 93 Question Id : 68634041011 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T T H HH H ITE H S 3HAAT % qHT 9RO 9 T 21 & o gt am w2 |

B. 7@+ W 58l e
C. wfusrds AT a1 FIH W Fdq1 1 GHwad ]
D. wwsiud drami =i saen

= fou U fased] § H H9H 39990 300 1 994 HIA0
1. % (A). (B) 3R (D)
2. Faw (A), (C) 3R (D)
3. %= (A) 3R (B)

4. %= (B). (C) 3R (D)

Options :

686340161969. 1
686340161970. 2
686340161971. 3
686340161972. 4

Question Number : 94 Question Id : 68634041012 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
Well graded gravel | I |GP
Poorly graded gravel] II. |5W
Well graded sands | IIL. |GW
Poorly graded sands | IV |SP

o|o]w[»

Choose the correct answer from the options given below:
1. (A}-IV): (B)~(ID): (C)~(1): (D)~(III)

2. (A-(D): (B)~(ID): (C)-(IID): (D}-IV)

(AD): (BIHIV): (O—~(1): (D)D)

- (A)(ID): (B)HI): (C)-(ID): (D)IV)

L]

s

Options :

686340161973. 1
686340161974. 2
686340161975. 3
686340161976. 4

Question Number : 94 Question Id : 68634041012 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= [ % =g g=1 11 =1 faem it |
Tt 1 et 11

A [em = s wm e | LGP

B_ [ = = s =0 1L [SW

C. [t =7 & v e, | 11 |GW

D. [prrars =1 8 w=hm = IV |SP

9= Tgu 70 faehedi ® § HE1 I 1 954 HiA0

(=

- (A)-(IV), (B)-(IT), (C)~(I), (D)-(III)

-2

. (A)-(I), (B)-(II), (C)-(II]), (D)-(IV)

(%]

(A)-(IID), (B)-(IV), (C)-(I), (D)-~(1I)

I

. (A)-(III), (B)-(I), (C)-(1I), (D)-(IV)

Options :

686340161973. 1
686340161974. 2
686340161975. 3
686340161976. 4



Question Number : 95 Question Id : 68634041013 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
. |Anemometer I Humadity
Eain simulator | II. [Evapotranspiration
L vsimeter II1. [Infiltration
. Hygrometer IV, |Wind speed

ol [l o] i

Choose the correct answer from the options given below:

1. (A~(IV): (B)~(IID): (C)—~(1): (D)~(II)

| )

 (A-IV); (B)IID): (C)~(D): (D)HI)
(A (B}HIV): (C)—(I1): (D))
(AIV): (B)~(D): (C)—(1): (D)~III)

[#5]

s

Options :

686340161977. 1
686340161978. 2
686340161979. 3
686340161980. 4

Question Number : 95 Question Id : 68634041013 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= | & =g = 11 =1 wem St |

i = I
B. [ sem II. [Fre=-amreseA
D. [rmam V. [ &

Ji= feu o fasedl # & HE 3T 1 9 iU

i

(AHIV): (B)HAII): (C)AI): (D)AID)

]

(AHIV): (B)AID): (C)HII): (D)AI)

Y]

. (AHIII): (B)~(IV); (C)II); (D)D)
4. (A)HIV): (B)AD): (C)HII): (D)III)
Options :

686340161977. 1
686340161978. 2



686340161979. 3
686340161980. 4

Question Number : 96 Question Id : 68634041014 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTII

LISTI (F; = Froude number]

Ty fj
Clipe ol mwmp) of supercritical flow)

A [Undular jump L B5=F =90
B. [Weak jump I P53<F =45
C. |Oscillating jump| IIT [1.7 <F; =2.5
D. |Steady jump IV 1.0=F; =17

Choose the correct answer from the options given below:

1. (A)~(I1): (B)~D): (C)—~(II): (D)~IV)

b2

(AHIV): (B)~(IID): (C)—(I1): (D))
3. (AD): (B)~ID): (C)—(III): (D)~IV)
4. (A)—(TI): (B)~I): (C)~(ID): (D)~IV)

Options :

686340161981. 1
686340161982. 2
686340161983. 3
686340161984. 4

Question Number : 96 Question Id : 68634041014 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= | & =g = 11 =1 wem St |

1 ot 11
A AR W
BThs &)
A, [FomE =i I B5<F;=90
B. [Fm=m I R3<F;=45
C. prmpm ot |IIL |1.7<F; =2.5
D, [prf=st = IV[10=<F =17

dg fou o faeregr @ © T 39T &1 999 Hifau -

[a—

A(AHID): (B)AHD: (C)—IID): (D)HAIV)

]

(AHIV): (B)AII): (C)HII): (D)AI)

tad

AAAD): (B)HAID): (C)HIID); (D)HIV)
4. (AHIIID): (B)AD): (C)—ID): (D)HAIV)

Options :

686340161981. 1
686340161982. 2
686340161983. 3
686340161984. 4

Question Number : 97 Question Id : 68634041015 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A Dust I |(05¢t0]1)um
B. [Fumes IT. |1 to 100} um
C. [Smoke 1 |(1 to 1000) um
D. |[Fly ash IV |0 to 0.3) um

Choose the correct answer from the options given below:

1. (A)(IID): (B)~D): (C)~(ID): (D~(IV)

| E)

(AHD): (B)HIID): (CHIV): (D)D)

(AID): (B)~IV): (C)I): (D)~(III)

[#5]

s

(AHIV): (B)ID): (CHIID): (D)D)

Options :
686340161985. 1
686340161986. 2



686340161987. 3
686340161988. 4

Question Number : 97 Question Id : 68634041015 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 [ & g g+ 11 =1 e shifso

et I wet 1T
A = I |(0.5to 1) pum
B. [ II. [(1 to 100) um
C. [ I |1 to 1000) um
D. = IV [{0 to 0.3) um

J= feu e faseql § § A I 1 994 HIAC -

ot

. (A)-IID): (B)HAI): (C)II): (D)HIV)

[

(AHI): (BHIID); (C)HIV): (D)HII)

(Y]

(AHID): (B)HAIV): (C)HAI): (D)—IID)

4. (A)HIV): (B)AII): (C)HIII); (D))

Options :

686340161985. 1
686340161986. 2
686340161987. 3
686340161988. 4

Question Number : 98 Question Id : 68634041016 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
o T 1 Reqmres pre-sorting, grinding and
turning
B. lsanitarv tandfint | 11 Lmn‘n_ad to special wastes and selected
; materials

C. |Composting II1. |High operational and main-tenance cost

: Sal'\jage i IV. |[Tractor

sorting

Choose the correct answer trom the options given below:

1. (A)(ID): (B)HIV): (C)~(1): (D)(III)

| )

(AD): (B)IID): (C)—(II): (D)~(IV)

Lag

(A (B}AIV): (C)«D): (D)AID)

f-%

(AHIV): (B)(IID): (C)—~(1): (D)(ID)

Options :

686340161989. 1
686340161990. 2
686340161991. 3
686340161992. 4

Question Number : 98 Question Id : 68634041016 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 [ & g g+ 11 =1 e shifso

g 1 g 11
A e 1. [E-weE, 797 7e 5 % e £
B. [m===a gawmm 1. [ i a1 oo were a% didd
C. [Eeiiem [11. [efsram ar ma-waE + 7= =@rn
D [ wm e | IV e

J= fgu u fasedi # 9 98 I 1 95 Hia0

1. (A)AID); (B)HAIV): (C)AI): (D)AIII)

[

(AHI): (B)HIID); (C)HII); (D)AIV)

(%]

. (A)HIID): (B)AIV): (C)~I): (D)~II)
4. (AHIV); (B)HIII); (C)~I); (D)—(1I)
Options :

686340161989. 1
686340161990. 2



686340161991. 3
686340161992. 4

Question Number : 99 Question Id : 68634041017 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
(Exposure condition) | (Minimum grade of concrete)
A |Severe I [M-25
B. [Extreme II. M-20
C. vhld ITT. M—30
D. Moderate V. M40

Choose the correct answer from the options given below:

1. (A)—(IID): (B)~IV): (C)~(II): (D))

[ ]

(AI): (B)~(ID): (C)—(II): (D)(IV)
3. (A(IV): (B)~IID): (C)—~1): (D)D)
4. (AYID): (B}AIV): (C)«I); (D)IID)

Options :

686340161993. 1
686340161994. 2
686340161995. 3
686340161996. 4

Question Number : 99 Question Id : 68634041017 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= T % = aeht 11 1 et Fifre

T I ot 11
A == 1 M-25
B. = I [M—20
C = L [M—30
D. = V. [M—40

Ji= fgu o fasedi | 9 981 I 1 959 il

ot

. (AHIID): (B)(IV); (C)HII); (D)HI)

]

A(AHD: (B)AID): (C)AIID); (D)AHIV)

(Y]

(A)HIV): (B)HII): (C)~I): (D)HII)
4. (A)-II): (B)HAIV); (C)I): (D)III)

Options :

686340161993. 1
686340161994. 2
686340161995. 3
686340161996. 4

Question Number : 100 Question Id : 68634041018 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A. [Fillet weld L | N |
B. [Square groove weld 1. | ' |

C. [Single V groove weld | IIL

D. [Double V groove weld | IV. x

Choose the correct answer from the options given below:
1. (A)~(IID): (B)~(I): (C)~(I1); (D)~(IV)
(A(ID): (B)~(IV): (C)~(I1D); (D)D)

| o

LFN]

(A(ID): (B)~(I): (C)~(IV): (D)~(III)
4. (AIV): (B)(IID): (C)—(1): (D)D)

Options :



686340161997. 1
686340161998. 2
686340161999. 3
686340162000. 4

Question Number : 100 Question Id : 68634041018 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 [ & g g+ 11 =1 e shifso

il gt 11
A e ¥ | . |
B pimwma= | | h 4 |

C. [ V migen 3= 1L

D [k Vanas |IV x

49 fou U fasedt @ ® T 39 1 9349 Hifu -

et

(AAHTID):; (B)—(D: (C)—~(1ID); (D)~HTIV)

]

A(AID: (B)HAIV): (C)HIID); (D)AI)

('S

(AHII): (B)AI): (C)~IV); (D)—III)
4. (A)HIV): (B)—~II); (C)I): (D)AII)

Options :

686340161997. 1
686340161998. 2
686340161999. 3
686340162000. 4



